@© (-2.7)+ (-1.3) @ (+§) + (+é)

@ (+7)+(-1) D(+3)- ()

® (-3.1) - (-%)

B
@ (-2.7) +(-1.3) =—-(27+13)=-4—| -4 =4
@ <+% + (+% = +g = +0.8333--- —[+0.8333| = 0.8333
® (;8)—1—(—;—2) :—;—; = —1.xxX —|—1.xxx|=1.xxx
@+g+§= %4—%:% = 5. X XX —~[5. X X X | = 5. X XX

12
© (-3.1) + (g) = -31+24=-07—-07=07

0.7<0.8333 <1. XXX <4 <5 XXX
olB 2, dYizlo] 7P & A2 @o]tt.
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3(2x + 1) — 4(3x — 4)

6x 4+ 3 —12x + 16

12

. —6+19 13
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12

—6x + 1132
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2x -1 B —3x+2
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1 3 5
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xE 2> x 79| of FoM o O] FHIZ YEHE 5
@A MeE? (& a = ALF)

@27 @4 @67H @ 8 7
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O]T_‘TE Tq1,x

® 10 7H

20 x 7 9] ofp B (AH)? ©] He e
1, 2%, (22)2, 72, (2% 7)2, (22X 7)?
= 67loltt.
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Q1A @271 O3 @47H ® 57

B

360 = 23 x 32 x5 ,
360 _
290 o) o AA%0] Azl 57 A

n

n=2x5,n=2x32x5,23x5,23x32x5 2] 4 7jo|c}.
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YIS 2 gAY Boke] Bl e W
3] Zojol Wagh ehl o] A4 7}

@© 3t W] Aol 60cm ,EFL Q] 74 -
@ gHHe] 4ol & 60cm ,EFL Q] 4
® gFHo] Zo] 1 30cm ,EtL Q] A4
@5‘} Bo] Zo] 1 30cm , EFL 9] 7i<
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60 7N
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60 7N
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Zo

Bt o] 3t W 9]
2)180 150
2%28;2 £ 2x3x5=130

6 5
gt ¥, 1 agt gAY e ALY
AT Brd o] g W] o2 Ly
(7F=2) = 180 + 30 = 6(7H)
(A&) =150 + 30 = 5(7H)
L (BREAF) = 6x5 = 30(7N)

1+ 180, 150 9] FtfFoksolet.
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7F22] Zol7t 90cm, Al 22] Zol7} 144em 1 AAYY BFe] Hof
B2 A7)0 A R Bde HIEgle] &0l il ot st
2 EES ZolH B Y g #9] Zol= & cm ©]ofof k=717
E, 2 N0 Brdo] B ajtu?

@ 18cm, 35 7} @ 12cm, 35 7} (@)180m, 40 7Y

@ 12cm, 40 7H ® 15cm, 30 74
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9] 3 18] FolE xom 2 & u,

90 =xx0,144 =xXx A

x+ 90 I 144 9] HfForS

90 =2x32x5, 144 = 24 x 32

~ x=2x3%=18 (cm)

90 = 18 x 5, 144 = 18 x 80|22

BRG] A%t - 5x8 =40 (W)




